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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2021

PHILOSOPHY
PAPER-V
WESTERN LOGIC

ASSIGNMENT
The figures in the margin indicate full marks.

Full Marks: 50

Candidates are required to give their answers in their own words as far as practicable.

All symbols are of usual significance.

Prepare assignments on any two of the following preferably within 1000
words each
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Define ‘argument’ and ‘argument form’. State the validity or invalidity of the
following with reference of Truth Table Method.
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(i) OV(R-~R), O/ ~(R-~R)

(i) If Jotin is elected class president, then either Shyam is elected
vice-president or Rahim is elected treasurer. Shyam is elected vice-
president. Therefore, if Jotin is elected class president, then Rahim is not
elected treasurer. (J, S, R)
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(iv) If Rahul wins first prize, then either Priya wins second prize or Jyoti is
disappointed. Priya does not win second prize. Therefore, if Jyoti is
disappointed, then Rahul does not win first prize. (R, P, J)
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25%x2 =150

5+(5x4) = 25
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2. Write about the existential import of proposition. “All standard forms of 5+20=125
categorical proposition have existential import” — Explain with examples.
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3. State the validity or invalidity of the following with reference of rules of 5x5=125
syllogism. Name their moods, if valid.
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(1)  All tigers are animals, some animals are carnivores, and so, some
carnivores are tigers.
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(i) No nuts are flowers because no flower are fruits, and no fruits are nuts.
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4. Write the definition of Analogical argument and mention the different criteria 5+20 =25

for the appraisal of analogical argument with examples.
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